www.freetnbooks.com

No. of Printed Pages : 11 + 6 5 702 5 9 m
ué,]m_l GTEunT >
Register Number M A |~ == i '

AR A

RT - II1
Ceudlufwisr/ CHEMISTRY
(50D wHmb mfe eyl / Tamil & English Version)
ST iere] : 3.00 wenfl Gy ] [ Qurss wHUGuaTseT : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sidleysmraet : (1)  Dimeansg) elamés s sflurs udeurd o drarsT eraugaman sNUMTESS
Qsrerereyid. BiFsLILSND Gepudmiden, iewms sarsrenflliLmerb
2 Lalquings CgflefEsey.

2 Beob oy smBUY oobkoer WLLEGW T(PEIeUSD&LD
SECeTeQushGL LwaLBss Caa@b. LLRSE uarausnE

Quendled LweTLHSSeyLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GO0y @ Gemauwrer GLidd ULD umThHE FLETLTRG®ET 6T(PEa,Lb.

Note : Draw diagrams and write equations wherever necessary.
&S - I/ PART - 1

@Oy : () Sewenggl eflamss@rdEn eflen wellésayib. 15x1=15
(i) Osr@ssuulBerer mresm@ wrHm efensafd Blaseyd ermijenLw
eflenenws CeibosHE81S GMui BLer efen_uleneamyio Csirég) erpsayib.
Note : ()  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1.  Qaameauaeupmer sweflll) Genanriiy, ssU Seveauy wHmID FEHD saLISeearTUL
Qeariyseer QarasrBHearer Gamow

(<) NH, (<1,) NaCl

(®) NH,CI () Qeaupded ggiloema

Among the following, the compound that contains, jonic, covalent and co-ordinate
linkage is :

(@) NH,4 (b) NaCl

(c) NH,CI (d) None of these

2.  apdaSyen GCammenrerL Biigs KOH o Lan elevanuBggid Gurg GupuuBeug)

(=) umrimeigenam(H (=) &LTrevigenam(h
(@) SHevemwimgame () ergdebenm Slencrésmed
Ethylidene chloride on treatment with aqueous KOH gives :

(a) formaldehyde (b) acetaldehyde

(c) glyoxal (d) ethylene glycol

3. em pedlwdy earyeier Qaliublew wHmb saisierey Q)@ WLnETs SHsM&EEG0
Gugl i IO (PHSD P -ulen orpoLbd :

(o) P (<)4P (@) 3P () 2P

If Temperature and Volume of an ideal gas is increased to twice its values, the initial pressure
P becomes :

(@) P (b) 4P (c) 3P (d 2P

4. rgCsaflan QeucuCGaim eus semwliseflar flenoliys senenwulear cuflens

(=) aHQArdir > smiey > WOMSHE

(=) erpGBe > smie| > Ty

(@) wenpsse > THOTHT > Fmiey

(rr) emie) > erArdiT > wermHed

The order of stabilities of various conformations of Ethane are :

(a) Staggered > Skew > Eclipsed

(b) Eclipsed > Skew > Staggered

(c) Eclipsed > Staggered > Skew
(d) Skew > Staggered > Eclipsed
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wdow Bg Wdaugelurer Cuiwb eapl Frémsi.dr brég frésamragnss
QUTERTL QDo o1 Syenfl (i) iy

(=) 2 (<) 0 (@) 3 (/) 1

The Van't Hoff Factor (i) for a dilute aqueous solution of the strong electrolyte
barium hydroxide is :

(@) 2 b)) 0 () 3 d) 1

QuenCGesmis olwsdHer erfge Qmuugﬁs&r gl

(=4) —7223 k] mol ™! (<},) —2237 k] mol 1
() —2327 kJ mol~1 (FF) —3227 k] mol~!
The value of the heat of combustion for Benzoic acid is :

(@) —7223 k] mol~1 (b) —2237 k] mol~1
() —2327 k] mol~1 (d) —3227 k] mol~1

Gemgwid erdled CallsaliL@ADg ?

(=1) B ' ' (<=) weirQ ewrainQ ewriis
(@) osanre . (%) @aupPlé grafidena
Sodium is stored in : o

(@) Water - (b) Kerosene

(c) Alcohol (d) None of these

YeeumeuameupmieT oTgl qefl GpOHmID LaTLenLWwg) ?

(=) BCer Lmimfé Sjbleld (<) 3-@CerrGrr QuenCGL e
(8)) GEpsCsamen () 2-@CernGrr yCymiICuen
Which of the following is optically active ?

(@) Meso-tartaric acid (b) 3-Chloropentane

() Glucose (d) 2-Chloro propane
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9.

10.

11.

12,

Cri@M eresiyrar priL wHiGemar QupmiaTerg gaflow :
(=1) yfrsmen (<p) vaplrgen (@) Lesfen () Gomguio
The element with positive electron gain enthalpy is :

(@) Argon (b) Hydrogen (c) Fluorine (d) Sodium

@ eTawr 105 o el Sgmelld o drar arHgman craslyrarser (n+l)=38 T &M
wHubener Qup pigud ?

(=) 15 (=) 30
(@) Srwreflss @uerg () 17
How many electrons in an atom with atomic number 105 can have value of (n+1)=38 ?

(a) 15 ) 30
(c) Unpredictable (d) 17

Qemeumeuareupmier BCem@wMa ellenemedin@ oL LLTg Gaiow erg ?

(<31) CHNH, (<) C;H5OH (@) cgHsNH; (%) CeHCl

Which of the following species does not exert a resonance effect ?

+
() CgHsNH, (b) C,H.OH (© CHsNHs (d) C4HLCl

19 676 (16U ETEU D DI 6T asdedafld (CH,) sramiu@n sriver s56i558M0@ swwmer
sriuen sgeigdans QuUDMIETETS 6T ? '

(1) Quenéen - (<=4) YyrSer (@) raCae () FFHenge
Which of the following compound has the same percentage of Carbon as in Ethylene (C,H,) ?

(a) Benzene (b) Propene (c) Ethane (d) Ethyne
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@Garer UL Slenge| e (Heurd@eug) :

(=) 2l QumssLD (@) 8105 5
(®) ees CeuluwwiTge (rF) anibaCurse
Ozone depletion will cause :

(a) bio-magnification (b) forest fires

(c) global warming (d) eutrophication

N, +3H, =2NH : Ko o
2 2) %) erenm edlenenudl e .

Kp

4 _
(1) RT (@) = (@) ®1? (%) JRT
Ke for the reaction,
Kp
N, +3H, =2NH, is:

® %@ )

1
(@) RT ®) RT (© (RT)? (d)  JRT
Sapm) : sigen heny swmeud Gemrrey e eflenanILBSSIEUSE epevlb, SIFe60

Brbsré syeans saamwulamar Bésmib.

SMTETILD gomeu GerLm, suear Blad sorbgerer srodflwub, Qwiatfub

GGetrerr®H wHMD FGLL & @EpL 6 deeryfibg serurs
. sriruGer._(Haemer 2 (Heuns@GEng).
(=1) sapm) sflwireng), < emmed smyesrid SEUDTEIS).
() BaDm) WHMD sMFewTD Qram®n &M, WHHD STFewID, FpMIsE Fflwrer
efler& s Lb.
() sapmy wHmib SMewIDd GraTOL Seum.
(FF) Sadm LOHMID STFeRTD @Qrewt(Hd &, D MTed STF6EvwTLD, Sapmlm@E sfwrer

eSleTésa .
Assertion : Permanent hardness of water is removed by treatment with Washing soda.
Reason : Washing soda reacts with soluble Calcium and Magnesium chlorides and

sulphates in hard water to form insoluble carbonates.
(a) Assertion is true but Reason is false.
(b)  Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
(c) Both Assertion and Reason are false.

(d) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.
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G&OluyY : amauGuenbd gym elamssEsso eoLwalss
SL_L_muons afenLweflésa b,

qyib. eflenT eTewr 24 -&@,
bx2=17

Note : Answer any six questions. Question No. 24 is compulsory.

16. @uy <ign Henp - QU TN &HHE]LD.
Define Relative Atomic Mass.

17. Gapwseruisflen Héswiopp gearan CariuriemLé samns.

State Heisenberg’s Uncertainty principle.

18. @paim cuemswrar salfemaniiy emanl mr(sameas GHLIAHS.

Name the three types of covalent Hydrides.

19. @@ auryeier sardiare) wHmb Curdsmer QsrLiyu@ssd sallswpean
UMLIUITL 19 6NETS S(H.

Give the Mathematical expression that relates gas volume and moles. |

20. Qeuiy Quisselwalar epeammbd elldaw snms.
State the Third law of Thermodynamics.

21. USBRSOTSHD GTATMT 6remen ?

What is Sublimation ?

22. grewred cHlenerey ETEIDITE Greven ?

What is Inductive effect ?

23, uwafluyens — auenynI&EEeb.

Define Smog.
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Note :

25,

26.

27.

28.

29,

www.freetnbooks.com

g 8422

NHj, N, wpgd H, dHweupiler 5o flavews Qedleysdr wepGu 1.8x10-2 M,
12x1072M wppid 3x 1072 M. N, wpmib H, -e9e\mpg NH, e maun@h eflenanses
sw Heoew wrPHelulien wFUGemans srears.

The equilibrium concentrations of NH,, N, and H, are 1.8x10~2 M, 1.2x10~2 M and
3x10-2M respectively. Calculate the equlhbrlum ccmstant for the formation of NH3 from

N, and H,.

u@&Sl - 111 / PART - III

sL_Lmuwons eflenLwefl&sealb. 6x3=18

Answer any six questions. Question No. 33 is compulsory.

Yeraumeuaneupilen LIy epadsan Hepulamens samrsd®Hs.
(i) eggenmed (C,H;OH)

(i) GEBECsTen (CoH,,0)

Calculate the relative molecular mass of the following.

(i)  Ethanol (C,H;OH)

(i) Glucose (C4H;,0;)

CTSLITeN Seuigenenossrear Lmelln wepuiler SiqliLeL e &HESONE STeyL.

Briefly give the basis for Pauling’s Scale of electronegativity.

LITYT @Dl rRenat, 24f5CSHT eanl_ TRens ereueurm WwrHoeum ?

How do you convert para hydrogen into ortho hydrogen ?

a=0eretm eumeRTL_ir eumeba Lomhlelleniis Qemam eumyedlenan Hreuorés (igujor ?
eleufl.
Can a gas with Vander Waals constant a=0 be liquefied ? Explain.

Gapenfl efldufer eurbLsaT wrenau ?
What are the limitations of Henry’s law ?
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30. SwelluGearibgiarer ssLblamarTliLg Seanioamwl eller&Gs.

Explain the covalent character in ionic bond.

31. wrpHwib (Isomerism) CTEMDHTE GTETRT ? DS UNEEEETS FaDIG.

What is Isomerism ? Give its types.

32. @CeammGyr Quenfaflen Lwenaar wrene ?

What are the uses of Chlorobenzene ?

33. gefllear aralamaoulad B5Csar LHpb GGamilar oL Gw Hah Fhéd
lenandsTar FETUTHEXET 6T(LHSIS.

Write the equations for the chain reaction between Methane and Chlorine in the presence of

light.

GO0y : Semensg damssEpsEh elamLwallésa.

Note :
34. (1) (i)
(ii)
(<) (@)
(i)
@ @
(i)
(b) @
(i)
A

u@s - IV / PART - IV
5x5=25

Answer all the questions.

GrenT SaT 6T — uanFm.
CGunit <igm wrfluller euFbLser wrenel ?

3|06V
Capageanser salgCapiluns Qeuau@Baug eear ?.
QgrEdser whmib eaflesseaid aaslirar sargaamouid ghu@ind
S EUTEHET LOTDDEIGEHETE Fafl)d.
Define Molar Volume.
What are the limitations of Bohr’s atom model ?

OR

Why halogens act as oxidising agenté ?

State the trends in the peﬁodic variations of electronegativity in Groups and Periods.
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35. (=) sToflwih WHmID G]mé;sﬁé‘lu_@,ﬂe&r e Wflwe waduggeusens ebleufl. :
ARV

(<) Gemgquwin @GGTH'GUJU'(Q LG &SSHler LUgss sl hnae sanmsdBHwn wanips
wpenpeniy Gﬂa'ré;@jas.

(@)  Describe briefly the biOlOgicaI importance of Calcium and Magnesium.

OR
(b)  Explain an indirect method to calculate lattice enthalpy of Sodium chloride crystal.

'_36. (1) & sridlwi Qsmarenaudenant vwetu®sd swhleoeufear Bg &paearL
' amenflser qHu@SSD LOTHDSNS eTdEs.

(i) Qedley
(i) SIWSsWD
(i) Qeuliuflenew
(iv) eSlenerGeus wrHM
(v) pg eumy
ANV

(=23) Qremevl eflflenpwis LwearL®EE Freugdla droaugemss QasmeamL Q@ sm
senraeilan 2,6l Di(PESSHDHETE FaTur L. aimed.
(a) Using Le-Chatelier’s principle explain the effect of the following factors on equilibrium.

(i) Concentration

(ii) Pressure
(iii) Temperature
(iv) Catalyst

(v) Inert gas
OR

(b) Derive the expression for vapour pressure of binary solution of liquid in liquids.using
Raoult’s law. '
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37. (=1) Oy pésam 2 (haursme pa&sam 2 TUAlLrd (MO) dararens APELD
UL GgIL e elleTdgayb.
S{0e0Z)
() () YGereumw GeiwhsEnée IUPAC weopuid Quuf(s.

@ CH3—CH2—(|ZI—I—CHO
OH

(IT) CH;~C=C-CH-CH,
Cl

(i) A wHpb B -enw seTH9g.

Pt/ H2
KoCrO7 . 5
(I1) HyS04 -
OH
(a) Discuss the formation of O, molecule using Molecular Orbital (MO) theory with dlagram
OR

(b) (i) Give the IUPAC names of the following compounds.
() CH3-CH;- ('ZH —-CHO
OH
(1) (&h-CEC—?H—CH;
Cl
(i) Identify ‘A" and ‘B'.

Pt/ Hz A
(1)
OH
K>Cr07
(m H,50;
OH
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38. (&) Quendenen & pseim Cemomisanms eréueuryy wrhpeumis ?

@ ECemGyr Quendar
()  ewenerw QapsCser
(i) Queludg <0eib
S|6V6V G
() Gemeumeuan LHH 8 GOy euenps.
®) oy wenp
(i) Qrer Wpenm
(i) eSevellwibaefen F&T QmE Ly
(a) How will you convert Benzene to the following compounds ?
(i) Chloro benzene '
(ii) Cyclohexane
(iii) Maleic acid
OR .
(b) Write short notes oﬁ the following.
()  Raschig process
() Dow’s process
(i) Williamson’s Ether synthesis

-000-
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